
VOCABULARY 

Choose the most suitable option of the four given alternatives: 

 

1) James Watt is ________ for his discovery of the steam        

    engine. 

 a) regarded  b) renowned  

 c) respected  d) disrespected 

2) India is now launching rockets ________. 

 a) alien   b) related to other countries 

 c) non native  d) indigenously 

3) The manager is changed with many _____.  

 a) praise   b) recognition 

 c) appreciation d) allegations 

Find the words in column A which matches with their correct meaning in column 

B: 

a. Hazard i. very important 

b. Consumption  ii. conservation 

c. Sustainable  iii. danger 

d. Critical  iv. use 

 v. able to continue over a period of time 



a. Objective  i. severe 

b. Hazard  ii. aim 

c. Spell iii. danger 

d. Stringent iv. a condition caused by or as if by magical powers 

 


